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054tC tgtr sdir dA il? t

(ii) _Tdtffi #a u7 fEF e f& frrd a eH 6g fu tEH trs z,*26 nfag so tE ad
' hB ala qea 45 t
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dbr f,eilr t

ffiA * d-r Ja €w Eqr- qls' frsd qd€ t
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t7wd fua 1 i s Jq fr*-trd hfd € a5 t 4] qad rydT a6 t
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*qa zz >rr? 23 fr€ @ # fds? dTfr I t
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tffi u? freT fu tls; tttfr qmr e nl6ne 45 t fu-€-ta"b$€E htOH6 ?
hn tds d-c, a M ffi sau e? Hffi fts 'frtfr trv qad O dT Hfi f{fuit

ile/
L. H-fH fu 21g Era-rrro et t3-6 UEE-sd-Jr a.a-a i-e e'B xi6ffi fur er d 6i e ?

€) Bq6 fffiH ('rr) 4s'tr6 fued fffiH
(E) za6im fiffiH (H)' gd-r EB- A$ O-e I

z. qa,n eirfeba TrH-d- Ed kilJ' WE-d A€' e ?
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(2)

3. )fto.ild Efr e ?

4. ff M-d,rr. s ar tf fr E:e-os1 }1E;fufr t ia 3 AH aae, t ?

s. )rtrs),lm.* a-6 fsfHrlr fr€' fu 6 mz a-da lrd-d et ge-d-$ {$trfrfl,a $ ura Ee. A
(rr.f) r;$ffia

H ut-unt*ura

G. Trddffia al uo ?

7. flr,i'il Fs a'UE Wa6 |-6 fufu),a tt+ fuH dut d-€' e ?

€) ,,{-#e (ar) EsEr (d Ekr (d umrE

8. qltEfu=- ate? t

9. d'd;ffidr f€a t ES ,ir$ (ori) Et dt E_nrd' A ? z

10. fuog, e.s'ec$ flrdflrr d*H, fHm ft. e ? frBu fu H 2

11. 6UF{ aea. S d se e ? te' Wd6 r|dd+{ trd fur ffi usefua i ? z

12. rd=lrfra {rc3r } gos. at eq t ? geffi-c- fug t 2

14. fdH E{ }Tfrrilt$ fi€q EE'-*c €E 6dTr6 xffiE-co Mfi,.r er 6r ffr | fEa 6,.*T{6
xffi*a-o Ed ffi rrge a-ils i ?

"ft-drd ft?raer ro'q rfre 6aI Er } fu r'p'k= tE A"l fuH aca 3 ues. at t 2

Rg ilgu A S frd f€r?rd* s Rg u-irr e spfr tra ,ir€ 6.9. fur{.d A€, a i'-d-d gJa.
e fra'Et s ugr Ergu o ie er fEH rroe ,rr3 )fdr S fr&adrr at tffi ? Ufu eeor
fr rw 6.s )?rftTa ie d tE tE eat ftr6 EA tfr I z

.E6E r1grtft ),6g:F6 d ufds'rr. feg I fu gso-d6 €1 fug 't 4

Lr:'drm *.r+6.t 6 itfrsm't? ffi Elnrs aua rr$ ffi E rfrflar{r Ea ffi t 4

1fr* FfrB'{ ufdfr-r6' * A ? fuH uffiils' +r{i tH ffiJ..€i tH t 4

fu Ery fr3 fu ym t +dil frE Edd,=E){i et ffi E-s dra t, ;i-cg dh{i te6,rr6
irgth.ri fE uo x.r3 ft Et fr?* €-d E@h{i O rre td s& gn t*e uo rrog fEH d
tM fr-e 4re t kd.H RS 3:f,€i €Br€ila A rr{fua fr3 RS ffi Fflkd Hr€6 T{ed
rsEfu t ? eraa qil t
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)r{rfrfu.d 0fgm e dE6, dee },.r3 }sc t ercri E } ffi |

ilr

(rr{) +rd td e iu-tu arya a1 ua ? Z+2

it;ft?rrd. e' ll-d. gu d1 i ? fE-d fafuD{, us-efua il-6 t ftHrq.a trs ffi lreE ails
e? 4

il
),l-6;ffi Br a,t5 BrBfd-r frt€ q1 aa ? fu t aS fi6 B-H tfr t4

24. rrffika Wq i- at gtr t ? dlm et gw-d-c E a uMqkd iFq A iv-iu uredi

3 srs. ail |

Hr

+kd frF&o-J. t trsH i".d A qriloi u.a €'H I

E6-€rd tfulri fu r+s' E-drFrd ;rcE t fudrn d qfdfflfl, e' sesa qi I

#trs-d*EE€l
Hr

ffifr6 at a ? fud Ukfuu. )1i€ e1 W.6 WBt A ffi gqr Fs &1 A ? ffi86 €d.6

tE ersth{t €u-tu dkd }r3 dH,fs-e-d' fufuh{tri e1 ffi-sd HkJ ferrflrn ad | 1+1+4

S.+6.t l1$H J * ge i ? g}dgfe-{ ffs'fu tb tr{d t fdn U-gr1,.r trd fr-d fafd},{,

&1 a ? $.+6.e. \fSffi et ffi e. frtu soee aB I

tr
(O i-fd ErS Et fra €effi-6 fu9 |

(rr.r) )r{ux-fr Fd,H Efr A ? ge'ilf,o ffi |

€) d.f,S fuTildr ffilB e1 uks'F fre tB fu.rrftpn at I
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(4)

(Hindi Version)

qle : (i) eN+ otrgfuw * gq ys q-{ frqq-dettqr-ds Erd qrt n frqq-aTsttw-aTs 0541C esw

ftrdr

(iil s-dr-yftr#r AA d lad W nqw es d E tat esro trFt 30 yv d ryi H& rn l d t

(iii) o-ar-gffi+r t qfr @ ,rn ywtWf i vwq w ffi fi vevstfi +r Xerw qfr fuqr qfiT t

(iv) qdf fr wq?q,fr A lrd nre' d eifud Ht Etrtl t

(v) w4wl26veqdr
(vi) vet i.l d8 strt qq atq i its?tr vs,vfuapi !1

(vii) vwri.9 d16 wfudffiddrv*swEIMtl
(viii) wt (i. 17 I 23 aq yAq 4 eid i dr r*f sw otW d aer vw ri. 22 dqr 23 t etmfrq tr6w

RqT wr dt

(ix) vet ri. 24 t 26 ao sAq 6 aiql d dr r+fr wafrq qqq alqr 1

(x) ciafi dqT ffi'f seq,iifr I yeqT * WrE trdfu eWK ergqq w atrlttfti 6hr e{ffiPdq'Erd

sq fr RiF + otnrt * vfl ql aA qnT qqr

1. qi-;rq fr 214 ffiq dr Hqi-dr * qn'r At qld qT$fRH tr+n qr wr il-q B ?

(r) srffifi{q}q (o) ffirqrfret@

({) e+(Ri*q (q) s-m t fr dri Tfr 1

2. n*Tn-tsrqk+ ffi.r q *q-TTr r-gv6 fi-61 | t
({) PAN (q) Biqrq

(,i) trqfrffi qqlTffiI{s (q) sqi-< q'ft I

3. rfrffhwrB? I

4. qqftm sil-Sitim ifim{ * frr q( qrq +G qra fi-qrg qr qrq qort t 1

5. qq tsTrift Hq q q ffi qes-{ nfrrfr qqR-{ qhrtr doq ortort ?

(s) r<qM (9 uFrtttwg

(,r) A-d$ng (q) fr-sfr-dlg 1

6. wrqlms5mB ?

0s4lc-ss



(s)

7. qM q mrtr+ rradn +1ffi'd ................. B r

(+) WRHI (e) qG (q) w5'{ (q) qqiq I

8. qgq"{rEiT ryr B ? 1

g. EnlFiq €qr6s * frq W (ori) fr wr 1F.o B ? 2

10. 4tq-sr qrRfteft-+ ffis r]tq q.$ slcRql q E}-dI t ? TifH'f, q"lq qt 1 2

11. qluq fr ryr okq{ B ? qmq w+q qrfrq fr qo ftil sq*Jft B ? 2

12. srT"i qqtE-dT wr B Z sild-{ur t I
2

13. qffiifi + cnt q rifHq q"i-q qt r 2

1.4. nh o* q"6fi'e d6iq sgr qr{frq-{ s} Rr&( ftai qTA fi-qrg +r qH {f,rE I qE fl{frtr{ d Rerttf, m-$ q ftt qcq

qrf,rB ? 2

"HrR, vqrql eKIGt ftt fr rrq t qr(t qirq *sr B l" {fl sqq q{ qqi qt r 2

sfq{q,iefrqsguw+1siE{q.tgfrq-ddt{rfr+frt,etrru{+1FxfrqfifirnqffisfYrq-'tOtfrqrar-Ftr
+1 fi'it"Eq wr &ft ? fs qqR fi qqr Ai il-ft {if,T{ +1 gfu q't qqr.fl nqRt( st t 2

oeT"r qrsfi €rg{f,q fr qfuflqT fitrq rg6 wrflq * fifqq t 4

S{mq$ d qF q q} q-{frfi dfr=trl d'qarr 6iri fr dri d EfM +r u'i{ drfrq | 4

qraq fr+q qRs)qil ryr B ? {fl qR*n{r d HilqdT( Tifrq q Rfuq r 4

\r+deqiiqRqgw*fl{tgm'rgetfrffiqgilTqBrrSfttsr"s-qrtrfiqfudrEiEtsil(sq-di*Htgmqe}
d qn ti qft ro B, rrg q-e d ryr * uRaeir + ftq svgry qKFRut lrffT s-{ qs-ft t I {fl EqR + frq +{-m

EgrzFE ffiq ffitFrffi (ART) rrdf{fi d H+-fr E ? q'iq +t t 4

21. dfHq'Fraffir +t -

(s) ffH+fiEffi*qn

(q dquro r*quil d qrfr+ +1r$+r r

22. sTffiH sIRrffi * sret, f,qil{ E ffi + ar1 61 ffi q1 I

9Prqr

(n) fr ffi-{rg q fr ofi-org q +ri fr si<n qar{ t

(q) Sffr Ai fr gi-flr-effiIr +n"r wr B i

23. t m * w $ Es +rt B ? co orf\frvr sq+ft fi.{ * qRruRm * drtq"r fr *0 rcq 6rfr t ?

s{el-qT

engeiRroo: frq fr Eqr arod t ? fq frfr + dt *q smt RId I
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(6)

24. qrRrir fr ryr ors{ t ? qs f,tdrq 6T qrftH fr qq fr sql-6-{uT tdr qrfafi * Aiq* q-c-+1 +1 qrq +t r

,qwil

fu EErf,r qe fri fr nfq{ +retlqi qqi qt 
r

25. w ongd-fi-S gq fr qmr W{eRq + E-.flfl qr q"f{ +t r ami s-t-r d wgffi Ha t rque st r

qP].il'

frq-d{qqrBitr6frqrdwq-qiir+Bqqrqfr*fr}rBg*++ffiAiqT-frsttrmf,enrtqrqR-dfuqr.:rlqr
H-d HFd E fq st r 1 +l+4

26. S.w.q df ffi fr qqr ors{ B ? $R$lqfr q dRIry qm fr tuq qr+{erT fr qo Bqr fr-fr t ? S. q{. q. m m
sr{-eq-fr qr €fHq q"tE 6t r 1 +l+4

0IP.lclT

(E

+.sfi +-$ sr t'd s-qr6{'r t r

etqqrtr ffiH qqT B ? rqr6r"r t r

afr 1a*i Rrgrf, +1qm{Rf, q-r q"h +t r

t

1
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Note : (i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(English Version)

You must write the subject-code/paper-code 0541C in the box provided on the title
pa,ge of your answer-book.

Make sure that the snswer-book contains 30 pages (including title page) and are
properly serialed as soon as you receive it.

Question/s attempted after leaving blank page/s in the answer-book would not be

evahtated.

Draw well labelled diagrams, wherever necessary.

Th,e paper comprises of 26 questions.

Question Nos. L to 8 are of one mark each. All questions are compulsory.

Question Nos. 9 to 16 are of two marks each. All questions are compulsory.

Question Nos. 17 to 23 are of four marks each. All questions are compulsory however
there is intemal choice only in Question no. 22 and 23.

Question Nos.24 to 26 are of six marks each. There will be internal choice in them.

Punjabi and Hindi versions of questions are translations of English version. Since
translation is based on, approximations, so in the case of any confusion consider
English version to be correct.

(i.x)

(x)

(a)

(c)

(b) Klinfelter'sSyndrome

(d) None of the above

l/C"n"tic disorder due to trisomy of chromosome 21 in humans is

Down'sSyndrome

Turner's Syndrome

054/C-SS



(7)

(c) Nitrogen dioxide

,fr) What is Menarche ?

(a) Erythrocytes

(c) T:Lymphocytes

Name the Bacteria which acts as Natural Genetic Engineer.

HIV decreases natural immunity of the body by destroying

d

frt Define pleiotropy.

Photochemical smog contains

(a) PAN (b) Ozone

(d) Allof the above

(b) Antibodies

(d) B-Lymphocyres

(c) Sucker (d) Rhizome

I

1

14
*.{

*rt:' What are Sciophyres ?

v"g"tutiffiugutio, in onion occurs by

(a) Offset (b) Bulb

What is the role of Ori for cloning vector ?

/,,lil Briefly explain the ecologicar pyramid which is always upright.

?,ly' What is meant by emasculation ? How is it useful in plant breeding programme ?

r'L2/what do you mean by incomplete dominance ? Give example.

f-g Briefly write about Biopiracy.

44 Name any one symbiotic nitrogen fixing bacteria. How does it help in nitrogen fixation ?

4{ "Liver suffers most from excessive drinking". Discuss on the statement.

/Jd A man with blood group A marries a woman with blood group B. What will be the genotype of
man and woman if one of their child is born with blood group O ? Show the type of progeny
formed with help of Punnett square. 2

4

4

$l/O"fine phenotypic adaptation.Also give one example.

d Explain any two methods for introduction of recombinant DNA into host cell.

1

1

2

2

2

2

2

1L

2
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(8)

r' L{what is Human genome project ? Briefly write about the salient features of Human Genome

project. 4

? C{ In case of an infertile couple male has abnormally low sperm count in ejaculation' Also female

has blocked oviducts and has spermicidal secretions in vagina but can provide suitable environment

for development of embryo. Suggest and explain the assisted reproductvie technology (ART)

useful to this couple. 4

*e{ griefly discuss

J&lt Biofortification

|bf Role of microbes in household food processing'

a{wate about cause, symptoms and modes of transmission of Amoebiasis.

or

N Write any two points of difference between B-Lymphocytes and T:Lymphocytes.

4b) What are different causes of cancer ?

,d *xpandPcR. How it helps in amplification of gene of interest ?

OI

ffiatdo you mean by GM organisms ? Mention any three advantages of GM organisms'

/.W.ffiutis ecosystem ? Discuss its different components with specific example of pond as an

6
ecosYstem.

or

-fiscnbe various causes of loss of biodiversity'

F gOlain the development of female gametophyte in

suitable diagrams.

or

ffhatis fertilization ? In which part of Human female reproductive system does it occurs ?

Explain diagrammatically various physical and chemical events of ferttlization in humans.

l+l+4

I

2fi,.rd"e DNA Replication. In which phase of cell cycle does replication occur in Eukaryotes ?
4Z 4ur "Describe brieflythemechanismofDNAreplication. l+l+4

{^f Give an example of Connecting Link 1

2
aJ

(.bf What is divergent evolution ? Give example'

@).- State and explain Hardy Weinberg's Principle'

2+2

4

2+2

4

4

1+1+4

angiosperms. Illustrate the answer with
6
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